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South Wailea - Shoreline Positions and Erosion Rates
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South Wailea - Shoreline Positions and Erosion Rates
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South Wailea - Shoreline Positions and Erosion Rates
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South Wailea - Shoreline Positions and Erosion Rates

distance(ft) distance(ft) distance(ft) distance(ft)

distance(ft)

700

600

500

400

700

600

500

400

700

600

500

400

600

500

300

300

200

100

Tr # 51
EPR = 1.4
RLS = 1.5
AEHR = 1.4
+
%
=+
1900 1950 2000
Tr # 54
EPR=13
RLS = 1.3
AEHR = 1.4
%
4
1900 1950 2000
Tr#57
EPR = 1.4
RLS = 1.5
AEHR = 1.4
/
+
1900 1950 2000
Tr # 60
EPR = 0.9
RLS = 2.3
AEHR =1.8
400 V5
1900 1950 2000
Tr# 63
EPR =-0.0
RLS = -0.0
AEHR = 999.(
s
0
1900 1950 2000
year

+ = Shoreline Position
= QOutlier

Tr#52
RLS =15
700 AEHR =1.5
+
600 %
+
500
400
1900 1950 2000
Tr#55
EPR=1.3
700 RLS = 1.4
AEHR = 1.4
600 +
%
500 $
400
1900 1950 2000
Tr# 58
EPR=1.3
RLS = 1.4
600 AEHR =14
500 =7
+
400
300
1900 1950 2000
Tr#61
RIS =19
500 AEHR =1.9
400 ;;///%
300
200
1900 1950 2000
Tr# 64
400 EPR=0.0
RLS =0.0
300 AEHR =999 (
200 B
100
0
1900 1950 2000

year

O = Hardshoreline designated at that

transect location for that year.

Tr# 53
RIS =15
700 AEHR =1.5
600 %
+
500
400
1900 1950 2000
Tr # 56
EPR=1.3
700 RLS =14
AEHR ='1.4
600 N
%
500 o
400
1900 1950 2000
Tr# 59
A
600 AEHR =15
+
500 N
o
i
400
300
1900 1950 2000
Tr # 62
RLS = 00
400 AEHR = 999.
300
200
100
1900 1950 2000
Tr# 65
EPR =-0.0
400 RLS = 0.0
AEHR =999 (
300
B
200
100
1900 1950 2000

999 =

year

Hardshoreline designated at that
transect location for that year.



South Wailea - Shoreline Positions and Erosion Rates
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South Wailea - Shoreline Positions and Erosion Rates
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